A HFH Kk OAN AL R R

No. 13
TH(ZiD4 Sl T L7 = 3 R R R AR S
R VSRS
H (53 WR2THET H 9 H OK) 10RF0043
% AL oH (kk) == 3o b
%*L%éj@ ¥22,000,000 %ﬁﬁﬁ”@{%ﬁ%g ¥16,921,688
E%Hﬂﬂﬁ%?j%) ¥23,000,000
T i ER2TAETH 14 H ~ FRR284E3 H 31 H
A B om  E : @MtL%EE%J@;%(P%) (ﬁé&%)g@ -
1| (A=Y rzsh ¥22,700,000
2| B)A7I7r ¥22,100,000
3 (BR)fhik ¥22,500,000
4| (BR) BRBERk At ERE ¥22,500,000
5 R Wfn= sy ¥22,400,000
6 | (BF) &ELIN ¥22,500,000
T BR=THRIb ¥22,000,000 % fL
8 | R K= v=¥Ur s ¥22,600,000
9 | (&)W ARG FHAT ¥22,800,000
10| BEET =TT ¥22,700,000
11| FKEAT (K ¥22,900,000
12| (BK) re vu BRI FEFT ¥22,350,000
13 (BR) B BUEERR =L ¥22,770,000
14 (BK) A= ¥23,000,000
15| CF) B ¥22,500,000
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No. 25
T (ZFD) 4 ELBE/ N B S E 5 (2 D 1)
oY R 4 LR R
H I WRR2TAETH 13 A (H) 117004y
% AL OH (k) 50 Bl Bk &
%M%}g@% ¥3,300,000 %{%wﬁﬁgﬁg ¥2,589,168
”X“Hﬂﬂ%?j%) ¥3,420,000
L Ly FR2TEETH 16 A ~ k2749 18 H
A B M # : éﬂ%éﬂ%ﬁ@?%ﬂ)(%ﬁ#jé‘)g@ [
L[ Bk 7 —haxaEt ¥3,370,000
2 | O T7HFREGIHILLL ¥3,390,000
3| R 7T R ¥3,340,000
4 [ (BR) et ¥3,400,000
5 (bR Mt i ¥3,400,000
6 | (k) RGERREERGH T ¥3,350,000
T A =Rk aRG! ¥3,330,000
8 | (F)tusxs ¥3,343,000
9 [ EFAHIL ¥3,400,000
10| Tu—72BEgERFE ¥3,400,000
ISR/ IY - YNIIE & ¥3,350,000
12 (BR) i gLaks ¥3,390,000
13 (Bk) =i ¥3,380,000
14 [ (BK) G- AR Re i i i ¥3,300,000 7 AL
15| BREREEZ=PLZU b () ¥3,340,000
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No. 37
THE(FD4 AR 7R FEE R M P B SRR
R VISR T S
H 53 YRR2THET A 31 H (42) 10850043
% L& (¥k) A m—R
%“f’?ﬁ%@ ¥1,590,000 %1&%@&{%@%@ ¥1,387,220
%gﬂﬂﬂ%ﬁ?j%) ¥1,633,000
T Ly PR2THES H4H ~ FR27T4E11 H 29 H
XK B om = 1 él\ﬂééaék(ﬁf,%m)ﬁﬁ%%)m -
1| B)T7—rrvx=y=707 ¥1,630,000
2| BAF—R ¥1,590,000 % AL
3| (A) @t ¥1,380,000 %gjﬁ%
4| R =i ¥1,630,000
5 (F) EWl&ERE ¥1,600,000
6 | (A)I-ELA kR ¥1,633,000
T B EiEM ¥1,631,000
8 | (&) fHH ARG FHEI ¥1,630,000
9 | ) =R ¥1,633,000
10| CF)BifhEAfr ¥1,630,000
11
12
13
14
15
16
17
18
19

20




A AL FE BN LR R E

No. 19
THE(FD4 PR TN TG ILARG R T
oY R 4 B R
H 53 WRR2TAET A 27 H (H) 10870047
% L& (BR) KPE LAz 2 b
%ﬂ%%@ ¥3,300,000 %ﬁﬁﬁ”[gﬁ{%@g; ¥2,599,504
%gﬂﬂﬂ%?j%) ¥3,500,000
L Ly FR2TEETH TH ~ SFERR2T49H 30 H
AL B 1 él\ﬂg—%aék(ﬁf,%m)(%ﬁﬁx%)g@ -
1| R Mk et 2 — ¥3,450,000
2| T 7= ¥3,400,000
3| R KAz ¥3,300,000 % fL
4| (%) Pgikas o zo b ¥3,400,000
5 B RBTY=YU T ¥3,450,000
6 [ () mIfh ¥3,400,000
7| R A—TERE ¥3,400,000
8 | Ab=kExEr () ¥3,420,000
9 [ F) LEER=PALZT ¥3,400,000
10| BREREER= LU b (5R) ¥3,480,000
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